



198408

$$I_a(\text{rod}) = \frac{1}{3} 3m p^2 = 4m p^2$$

$$I_a(\text{mass}) = m y^2$$

$$I_a(\text{system}) = m y^2 + 4m p^2$$

Find T of compound pendulum:

$$T = 2\pi \sqrt{\frac{I}{\text{mass} g h}}$$

$$I_{\text{system}} = m y^2 + 4m p^2$$

$$\text{Mass} = m + 3m = 4m$$

Find h:  $\therefore$  (a)  $m y + 3m p = 4m h$

$$\Rightarrow \frac{y + 3p}{4} = h$$

$$\therefore T = 2\pi \sqrt{\frac{m y^2 + 4m p^2}{4m \cdot g \cdot \left(\frac{y + 3p}{4}\right)}}$$

$$= 2\pi \sqrt{\frac{y^2 + 4p^2}{g(y + 3p)}} \quad *$$

Equivalent simple pendulum length  $\frac{40}{33} p \Rightarrow$

$$T = 2\pi \sqrt{\frac{l}{g}} = 2\pi \sqrt{\frac{40p}{33g}} \quad (**)$$

Comparing (\*) and (\*\*)

$$\Rightarrow \frac{40p}{33} = \frac{y^2 + 4p^2}{y + 3p}$$

$$\Rightarrow 40p(y + 3p) = 33(y^2 + 4p^2)$$

$$\Rightarrow 40py + 120p^2 = 33y^2 + 132p^2$$

$$\Rightarrow 33y^2 - 40py + 12p^2 = 0$$

$$\Rightarrow (3y - 2p)(11y - 6p) = 0$$

$$\Rightarrow y = \frac{2p}{3} \text{ or } y = \frac{6p}{11} \text{ good,}$$

(Factors got by looking at answer and working backwards)